MAC 1105 Section 1A27 Name: SOUJUhD/LZL

Quiz 3A (Modules 5,8)
Be sure to show all your work for full credit!

1. (2 points) Determine whether the equation is an identity, a conditional equation,
or a contradiction. Give the solution set,
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Type of equation: l[il\n h ."L!"’ Solution set: { A‘i}\’u‘ Wi WJS }

2. (3 points)You have $5000 to invest and two funds that you'd like to invest in. The
first fund yields 10% interest and the second fund yields 5% interest. If you earn $400
in interest income this year, how much should yon* put into each fund?
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3. (2 points) What is the length of the side of a square if its area is twice the
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Length of the side of the square:

4. (3 points) Solve the equation by completing the square or by using the quadratic
formula.
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